

"Assignment #2"

(1)

Name * M. Raza Arshad
Id # * 13676
Subject * Differential Equation.
Submitted to * Sir Latif Jan.
Date * 30/09/2020

1. Use the method of separation of variables to find the General Solution.

(a) $x' = \sqrt{x}$

$$x' = \sqrt{x}$$

$$x = \frac{t^2}{4} + \frac{C_1 t}{2} + C_2 \frac{1}{4}$$

(b) $y' = e^{-2x}$

$$y' = e^{-2x}$$

$$y = \frac{-1}{2} e^{-2x} + C_1$$

(c) $y' = 1 + y^2$

$$y' = 1 + y^2$$

$$y = \tan(t + C_1)$$

(d) $u' = \frac{1}{5-2u}$

$$u' = \frac{1}{5-2u}$$

$$u' = \frac{1}{5-2u}$$

$$u = -\frac{1}{2} \ln(5-2u) + C_1$$

(2)

$$(e) x' = au + b, \quad a, b > 0$$

$$(f) Q' = \frac{Q}{4+Q^2}$$

$$Q' = \frac{Q}{4+Q^2}$$

$$\therefore (Q') = 0$$

Derivative of constant $\frac{d(Q)}{dx} = 0$

$$(g) x' = e^{x^2}$$

$$x' = e^{x^2}$$

$$\frac{\sqrt{\pi}}{2} \operatorname{erf}(x) = t + c_1$$

$$(h) y' = r(a-y)$$

$$y' = r(a-y)$$

$$y = -e^{-rt-c_1} + a$$

② Solve $y' = r(a-y)$
where r and a are constant
→ solution:-

$$y' = r(a-y)$$

$\therefore r \Rightarrow$ constant
 $a \Rightarrow$ constant

$$y = -e^{-rt-c_1} + a$$

Q. Find the General Solution)

(a) $x' = \frac{2x}{t+1}$

$$x'(t) = \frac{2x(t)}{t+1}$$

$$x(t) = \frac{1}{2} t x' + \frac{x'(t)}{2}$$

$$2x(t) = (t+1)x'(t)$$

$$x(t) = C_1(t+1)^2$$

(b) $\theta = t \sqrt{t^2+1} \sec \theta$
Given, $\theta = t \sqrt{t^2+1} \sec \theta$

$$t, \theta = \sqrt{t^2+1} \sec \theta$$

$$t = \frac{-\sec \theta + \sqrt{4\theta^2 + \sec^2(\theta)}}{2 \sec(\theta)}$$

$$t = -\frac{(-\sec \theta) + \sqrt{4\theta^2 + \sec^2(\theta)}}{2 \sec \theta}$$

$$(c) = (2u+1)u' - (t+1) = 0$$

$$(2u(t)+1)u'(t) - (t+1) = 0$$

$$u'(t)(1+2u(t)) = 1+t$$

$$u(t) = \frac{1}{2} \left(-\sqrt{C_1 + 2t^2 + 4t + 1} - 1 \right)$$

$$u(t) = \frac{1}{2} \left(\sqrt{C_1 + 2t^2 + 4t + 1} - 1 \right)$$

$$(d) R' = (t+1)(R^2+1)$$

$$R'(t) = (t+1)(R(t)^2+1)$$

$$\frac{R'(t)}{1+R(t)^2} = 1+t$$

$$R'(t) = (1+t)R(t)^2 + 1+t$$

$$R(t) = \tan \left[\frac{1}{2} (C_1 + t(t+2)) \right]$$

$$(e) y' + y + \frac{1}{y} = 0$$

$$y'(x) + y(x) + \frac{1}{y(x)} = 0$$

$$\frac{y'(x)}{-\frac{1}{y(x)} - y(x)} = 1$$

$$y'(x) = -y(x) - \frac{1}{y(x)}$$

$$y(x) = -\sqrt{e^{c_1 - 2x} - 1}$$

$$y(x) = \sqrt{e^{c_1 - 2x} - 1}$$

$$(f) (t+1)x' + x^2 = 0$$

$$(t+1)x'(t) + (x(t))^2 = 0$$

$$\frac{x'(t)}{x(t)^2} = \frac{1}{-1-t}$$

$$x(t) = \frac{1}{c_1 + \log(t+1)}$$